(::) 20 BY - . a TE Connectivity Lid. company. All Rights Reserved. | REVISITONS
p LTR DESCRIPTION DATE DWN APVD
5| A INITIAL RELEASE 04APR20TS | GY | CW
B FCR-15-013759 215p | DW | CW
B ECR-16-011988 24AU062016 | YC cw
B? ECR-18-017123 21DEC2018 | KW cw
0 ®)
o
o
NOTES:
| . TECHNICAL CHARACTERISTICS:
TYPE |, T2040062201-000, WITH LOGO INSULATION MATERIAL: PC
24 | T2040062201-000,%L0GO RATED VOLTAGE: 500V
oX M3 SCREW,RECOMMENDED ’ ’ RATED CURRENT: |6A
TIGHTENING TORQUE 0. 5Nm INSULATION RESISTANCE: >=400M()
6X M3%£, #F4%4%£0 . SNm RATED IMPULSE VOLTAGE: 6KV
I 4X M3 SCREW,RECOMMENDED I T T
TIGHTENING TORQUE 0O.5Nm .
4Y M3 BEGENE0 SN MATING CYCLES: 500 CYCLES
Lo ’ WIRE RANGE: O0.5mm2~2.5mm2 (AWG20-AWGI 4)
- —i == o~ CONTACT TYPE: SCREW CLAMP (M3)
« il M4 SCREW, RECOMMENDED— ‘ - - .
TIGHTENING TORQUE | .2Nm ™ ‘_'&ﬁ%ﬁ:
' M 4J§§é ,?@a?%h%%77%ﬁ\ . 2 Nfﬂ ‘ zﬁ%%ﬁﬂ*#: P C
Hrek: 500V
FrEm: | 6A o
wgwlE - >-400M
0 35 BHBE  GKY
ER%Eg 3
| EsEg: UL94V-0
O | o | BHAH . 500 %
J[ || a #4%E: 0. 5mm2~2. 5mm2 (AWG20-AWG I 4)
| musm 4R (M3)
<t M~
~ — — - — — t— — " — « w0
od ‘ o
N ‘
JT: |
L_ 44
PANEL CUT FOR [INSERTS FOR USE
WITHOUT HOODS/ HOUSINGS
T{t RS 49 51 A0 4o 0 5 T3
THIS DRAWING IS A CONTROLLED DOCUMENT. |OWN 05APR20TS
CH%INO LAD 05APR?207T5 - TE TE Connectivity
PIMENSTONS: OTTHOELREWRIASNECESSPEUCNILFEISESD' AP%DHRIS WANOG5APR20W5 NAME
mm ' XTANG XU HE-006-F
0 PLC +- PRODUCT SPEC
@E}{::::}; o1 108-137044
3 PLC +- APPLICATION SPEC
iNgtég +- . 1} 4—’1 3470 414 SIZE CAGE CODE | DRAWING NO RESTRICTED TO
MATERTAL ) FINISH ) WEIGHT ~ A300779@‘:T2040062201000
- - CUSTOMER DRAWING I e I s

1470-19 (3/13)




1
@ 20 BY - . a TE Connectivity Lid. company. All Rights Reserved. | REVISITONS
P LTR DESCRIPTION DATE DWN APVD
" y SEE SHEET 1
(2 .\
| rrEye
] % {,e |
8 s ¥ NOTE :

ALL SPEC REFER TO TYPE |

ViR -
FAEESAESER TYPE |

TYPE 3,T2049062201-000,WITHOUT
LASER TE LOGO

28 3,712049062201-000, A##xL OGO

_ 9 S ¥ -
oM\ D
U i
N N
QOO
- U
- € 2 1 -
) . ) HE-006 FEMALE INSERT
12040062201-000 HE-006-F HE-006 5% TYPE |
) . ) HE-006 FEMALE INSERT,WITHOUT LASER SIDE MARK
12040062201-001 HE-006-F HE-006 &6 FAANERS TYPE 2
) . ) HE-006 FEMALE INSERT,WITHOUT LOGO
12049062201-000 HE-006-F HE-006 #8 £L0GO TYPE 3
PART NUMBER PART DESCRIPTION TYPE
H 4 2
THIS DRAWING IS A CONTROLLED DOCUMENT. [DW 05APR20TS
gY‘E% ﬁAgiollOOESZZO\*OO\,W\THOUT LASER CHGKINO YAOOSAPRZOWS -—TE TE Comnectivity
CHRIS WANG h—
A8 2,72040062201-00 1, A#ARERR PIMENSTONS: OTHERWISE SPECIFIED: | APYD 05APR20TS [vame
mm XTANG XUl HE-006-F
0 PLC 1 PRODUCT SPEC
*€§> Soe o 108-137044
53 PLC +- APPLICATION SPEC
iNGPLLECS +- . 1 w 47 w 37044 SI1ZE CAGE CODE | DRAWING NO RESTRICTED TO
MATERTAL FINISH WETGHT - A300779@ET2040062201 000
- CUSTOMER DRAWING I I e S I s
1470-19 (3/13)




